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Estimate probability of transmission 
using a generalized linear mixed model









High-fitness amino acids are more likely to be transmitted

What about whole virus sequences?
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Frequent non-productive infection

What about risk factors?
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Stronger bias in men



Stronger bias in men



Stronger bias in men

Stronger transmitted viruses lead to 
more severe disease



A paradigm:

Low biological risk leads to lower odds of infection, 

but more severe disease when infection happens







Microsoft Privacy Policy statement applies to all information collected. Read at research.microsoft.com  

Save the planet and return 
your name badge before you 

leave (on Tuesday) 




